BEMXILSE XKih—/)L EBEDMXESR JO7HE

Z/3 =200
LH

TFLH 1(72)=101 fLH 1=97 LLH 1(72)=98
TLH 2(59)=102 fiLH 2=98 tLH 2(59)=94
TFLH 3(22)=103 fLH 3=99 LLH 3(22)=95
TLH 4(40)=104 fILH 4=100 tLH 4(40)=96
FToaraverk Eoo7avesk
(173~184) LHo#72 | 101+93 (161~172)
TFFC12 = 184 LHO#59 | 102+94 EFC12 =172
TFFC11 = 183 LHO#22 | 103+95 EFC11 =171
TFC10 = 182 LHO#40 | 104+96 EFC10 = 170
TFTFC 9 = 181 EFC 9 = 169
TFFC 8 = 180 LEFC 8 = 168
TFFC 7 =179 EFC 7 =167
TFC 6 = 178 LEFC 6 = 166
TFC 5 =177 EFC 5 = 165
TFC 4 = 176 LEFC 4 =164
TFC 3 =175 EFC 3 = 163

ERRIYEZ ERRIYER
TFFC 2 =174 EFC 2 =162
FFC 1 =173 EFC 1 = 161

FIoo7avtEvk

BIFC1= 185 RIFC2= 186 RIFC3= 187 ®IFC4= 188 BIFC5= 189 BIFC6= 190

TIETYRSA+ KIvrZ4/+ LEIETVRSAE
TF1EFoot1W) =7 AKFoot1(W) = 1 ETEFoot1W) =5
T1{EFoot2(64) =8 KFoot2(17)= 2 E{EFoot2(64) =6

AFoot3(72)= 3

KFoot4(78)= 4
TEZaT7AVEUR EETOT7AVEUR
T{EFC 1 = 194 EfEFC 1 = 191
THEFC 2 = 195 LfEFC 2 = 192
T{EFC 3 = 196 EfEFC 3 = 1983
Th—=AB LAk ER—=ABLSAF
TFTOR 1 = 109 T T LTOR 1 = 105
TTOR 2 = 110 ¢ ¢ ETOR 2 = 106
TFTTOR 3 = 111 LtTOR 3 = 107
TTOR 4 = 112 LE LB ETOR 4 = 108




